f TREKHAKEN ¢ ATTELAGES * ANHANGERVORRICHTUNGEN * TOWBARS * ENHANCES * ANHANGERTRAK * GANCI DI TRAINO
Montagehandleiding | instructions de montage | Einbauanleitung | Mounting instruction

Instrucciones de montaje | monteringsvejledning | istruzioni di montaggio

STANDARD o/

AD-BLUE /
N-LINE €

‘QW

2SN
P

Hyundai Tucson IV (type NX4)
09/'20 -

STANDARD ¢/

AD-BLUE /

HYBRIDE

N-LINE 3C

Kia Sportage Face
07/'18-

STANDARD o/
AD-BLUE o/
MILD HYBRID o/

Kia Sportage V (type NQ5)
09/'21-

STANDARD o/
PLUG-IN HYBRID
MILD HYBRID ¢/

Gdw nv. Hoogmolenwegel 23 | B | 8790 Waregem | T +32 (0)56 60 42 12 | F +32 (0)56 60 01 93 | gdw@gdwtowbars.com | www.gdwtowbars.com

REVISIENUMMER 004 | N° REVISION 004 24-08-2023 2656




R, 3256627779

helpdesk@gdwtowbars.com

————




Hyundai Tucson Il + 1V ; Kia Sportage Facelift + V

MADE BY

D11,20 | F
gy o1 L
BELGIUM ‘ S 120 ‘ ‘ 55R-02 1723
REF N° SERIAL N°
‘ 2656 ‘ ‘ XXXX

DESCRIPTION

Hyundai Tucson Il + IV ; Kia Sportage FL +V

c—
cooo| D=
0000
000
000
S=

X 0.00981 < 11,20 kN

BELGIUM|

REF. N°

DESCRIPTION

I

www.gdwtowbars.com




HELP

helpdesk@gdwtowbars.com

+3256 627779
Monday 08:00- 12:00 12:30-16:30
Tuesday 08:00- 12:00 12:30-16:30
Wednesday 08:00 - 12:00 12:30-16:30
Thursday 08:00 - 12:00 12:30-16:30
Friday 08:00- 12:00 12:30-15:30

A8J< (O )KEY NUMBER

|

www.gdwtowbars.com



Il Uoson] 1epunAH -

Al UOSDN] lepunAHy -

www.gdwtowbars.com



O€ X GW-EE6NIA | OX L
070°006 434 MAD | LX 6'0L SEXTLW-EE6NIA | PX €L
6'0L SS X TLW-EE6NIA | PX zL
S2TO'006 ‘434 MAD | LX
LL 434 MaD | LX L
LLILXELT O
[a'¢
LLO'006 434 Mad>
CLW-S86NIa | PX
OL '434 Mas | TX oL
O X TLW-LEGNIA | DX
6 434 Ma> | X 6
(A-) 960°806 434 MAD | LX “
- aldt B (WWNT) 843 Mad> | X 8
O€ X QW-EEB6NIA | LX “
SWISUI 1HUIOS - PAW SIDAST - SOIUN[PE SOIUBWI|T - HW 131190 (WW ) £°438 mas | ex L
YIM palaAls( - 29A. 2JAIT - 19U PISA9|eD
¥760°806 434 Mad | LX “ Q43 MAdD | LX 9
A
€50°006 43 Mas | LX @ S-
<
Q\ G 43 MAd | LX S
OW-LZO6NId | TX @ N 44
€00°9L'gLL "43Y MAD | LX “
OLM - TLW-VEBNIA | X ‘O €C 438 Mao | X v
v N
200°OL'gLL 43 MaD | LX - ZA13-TLW-LTO6NIA | PX @ [44
TLW-VGZLNId | 8X @ 1c £ UMD | X €
(NOTAN) 9L X P'SLX T'9 | TX “
ZA13-AHOYL-TLY-STLNIA | PX @ N ot
OW-S86NId | LX “
ZN13-AHOVL-8V-STLINIa | PX @/ 6L 2 M MAD | LX z
OW-S86NIa | 9X é 8L
STXOW-EE6NIA | OX % [
6€d 434 MaD | LX d-
1S-OLW-6VELNIa | TX ‘\@ oL 959T 43 MA> | LX L
8W-S86NIa | OX \@ St

www.gdwtowbars.com









"z | ISPORTAGEV 22




E3[ TuCSONIIl | PN| TUCSONIV | —OEl- EI[_TUCSONIIl | PN[ TUCSONIV |
[J[SPORTAGE 12 [J[SPORTAGE




TUCSON Il

SPORTAGE FL

&S

PH3
e

:

L

12
O

8- 0O
[l

@

TUCSON IV




SPORTAGEYV ‘22

‘22

SPORTAGE YV




TUCSON Iil| | SPORTAGE FL
TUCSON Ill| | SPORTAGE FL

8|




TUCSON IV

PORTAGEYV ‘22

S

2

—0—"—;01—% 0
T

,(y(l)

7

;H-lﬂjm«‘llb‘ﬁ) 0
—

i

\

www.gdwtowbars.com



SPORTAGEYV ‘22

£ O
SPORTAGE V ‘22 1721

1o [



11,3Nm

SPORTAGEYV ‘22 @L//}

‘22

SPORTAGEYV

(]

R
| o gl =
O<o 8- |
| C——mw L e Y\
@®, )
QW____ M -l ) \EH ;
™, il d (i | ;
,.II'D o/ &\ - “ H@mx
i m
) ]

18]

|

[

M=
3 \ O
ONg)

©) II
(\O\
f“

www.gdwtowbars.com




137,0 Nm

—EB—
19
@)

@

www.gdwtowbars.com




TUCSON Il

SPORTAGE FL ||~

137,0 Nm

__

19

(@)

]

]
N
900

Wﬂlﬁﬂ‘




2 < X <4mm 4 < X <8mm 8 < X <12mm

L ‘ | (R) B- -’ » ﬂm

TUCSON IV
SPORTAGEYV 22 Q//J@

o

é§§g#f%§ ONLY
— KIA SPORTAGE FL

@

48
25

190

-_—
w
o

www.gdwtowbars.com



SPORTAGEYV ‘22

X1  DING85-M6

X2 6,2%15,4 X 1,6 (NYLON)

7
X1  GDW REF. 908.095 H
10
O

X1  GDW REF. 718.16.002

X1  GDW REF. 718.16.003

X1  GDW REF. 908.094

X1  DIN933-M6 X 30

www.gdwtowbars.com




X1 GDW REF. 900.025

X1 GDW REF. 900.026

X2 DIN985-M12

X2 DINO31-M12 X 70

X2 GDW REF. 900.011

\

www.gdwtowbars.com



TUCSONIII| £
SPORTAGE FL|| '\







AFN Opties - Options - Options - Optionen - Opciones - Muligheder |

A X1 930.HO06

B X1 DIN931-M12 X 70
C X1 DIN931-M12 X 80
D X2  DING85-M12

-S

X1  GDW REF. 900.053

www.gdwtowbars.com




